O 13 0: gnuplot OO 3 1

20120 070 130

Oo0O00o0 vV (201200)
0 13 O: gnuplot OO 3

(http://takeno.iee.niit.ac.jp/%7Eshige/
math/lecture/comp4/comp4.html)

1 00000 (set) OO 2. .. oo oo oo o oo oo e e
2 0000000 ... e
3 000000 histograms . . . . . .. ... ... ...
4 020000 ...
O00:gnuplot OOOOOO OO 2 ... .. ...

© oo N w =

1 00000 (set) 00 2

set grid/xzeroaxis/border

udubobibibbbUOOdUset grid, set xzeroaxis, set border U U
00o00oooooooooooooooooa

e set grid {<OOOO>} {1t <n>} {lw <x>}
O00000000O0ooooCo0o0 (Dbooooooooooo)o
<{obob0>fgdtbbbtuoouobbbboobbobuoooboboobn
00 xtiecs (x 00000)0 yties(y DODDODO)00O0ODO

e set xzeroaxis {1t <n>} {lw <x>}
0000 (yw=0)00O0O (00000000000 0ODO)0DO0O0O set
yzeroaxis 0 y 0000 (zx=0)00000000set zeroaxis 00
r,yUO0O0Ooooooooooon

e set border <O O O> {1t <n>} {lw <x>}
goboboooobbbooookobobo>obbboooobboboo



1. 00000 (SET) 00 2 2

gboogbgobuogbobodgbobooboobobobodobn o, 1,
23000 (0000000 1,2,4,8) 000000000000 150

0000 1t, lw000000000000000000000 (1w) 000
00 1000000000000 (1t) 00grid O xzeroaxis O 0 (000
0)Oborder 0 —1 (0000)0000000

0000000z 00000000000000x,y0000000000
00 (-1)000000000000 (2+1=3) 0000

set grid xtics
set zeroaxis 1t -1
set border 3

plot sin(x)

OO0 13-1. y=sinz 00000000000 O0OODOO0OOO0OODOOO
oo0o0bObooooooboobbuooooobbbooooooooobo
pause OO DOODO0O0OOOOOO gnuplot ODOOOO kadail3-1.gp
Oooooog

OO0 13-2. 000000000 U0OUOx U0 yUUUOUODUODUOUOUOUOOO
y=cosz JOOOOODO gnuplot OO OO kadail3-2.gp OO DO OONO

set xtics/ytics

0000 (0D0)0000000D0O0O0O000000 set xtics, set ytics
UO0ODOset xtics,set yticsUUUUODUOOOODOOO 3000000
ooooobon

e set xtics <O O0> . 00000 (DO)ooooooo

e set xtics <O 00>, <O0OO> {, <O0O0O>}
O0b0000000000000 (b00b0000)00000

e set xtics ( "«OOO>" <O 0>, "<OOO> <O0O>, ... )
O00o0oooooooon

set xtics U UUODOOUOOOO0OO0OOOOO0OO0ODODOOOOOODOO

e mirror/nomirror ;. 00oooO0o0o0oooo/ooo (ooooo
0 mirror)
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e font "<UUOUOO>,<OOO>" gbogobooogoooooo

set border 3 # UUUUD

set xtics nomirror; set ytics nomirror # U U OOIONI
set xtics pi # mUU U

plot cos(x)

0000000000 000000 ONOODODOODODOunset O OFF O
gbobobooogn

e unset xtics 000000000000 OFFOOO

b 13-3. y=smz U0OO00OUOO0OO0OOOO0OO0 10000000000
gbogbodboo1gboooboobuoobboobooboon
gooo

U0 13-4. set xtics U U0 2 0000OUOO0OOO0O0OOO 20000
goooboooon

00 13-5. x00 (100)0 123000 3000000000 datal.dat
0000200000 0<2<40002z=10000002=200
000M2=300000000000000000020000000
0000000 (000000)000 gnuplot 00000 kadail3-5.gp
oooooQ

2 ODOoOooobooo

enuplot 00000000000
e 0000DDODOO

e HUUODODOOODLODUOODODLUOODLOODLDLODODLOOUODbDDOO
(0000000O0OO0oODO0o0D0o0oOoooD)o

e J00DUODODODOO (*)UODODOUDODOUOD ()ODODOUODOOODODO
gboboboooobbbuoooobboooon

e HUUUOOUDLODODUOOODLDLDOUOOODO



2. 00odggo 4

e OO OODLOOODLOLOODLOUOODDLOUOODLDDLDOLOOODOO
O00000000000o0oo00oO0 (AWKDOODO)

goboboogobbboooonon:

e A . B 000 A0DOO BOOOoOOoOooOoOO

e Aln:m] : OO0 AD 0000 mODODODDDDODDDODO
(00000 100)

eAegB/ AneB : 000 ADODOO0O BOOODOOOO/O0O0O
gobooo

O000000000000DbO00b00OD0sprintf() DODDODODDODOO
goooodao

e sprintf(...) » CO00 printfO ODOODODOOODOOODDOO
Oooooooooooood

gboboboooobbbuodb print U000 OOO0O0OO0DODOOO

e print <O> {, <O>, ...} : O0<O0>000000000000

jfontl = "MS Gothic" # OO OO

x1 = 1950; x2 = 2010 # JOODO

s = sprintfCC 000000 (kdODO%A0O)’, x1, x2)
set xrange [x1-5 : x2+5]

set title s font jfontl . ",20"

print s[0:6]

gnuplot 0O O000 1000 2000000000000000 print 0
O0o0ooOooooooooto

O0O0Osprintf() OJOOOODOO (r"ODOOOOOODO (C )0O000OO
0000000000000 00000O00 (oo JIs)0ooooooo
Ooo00ooOo " "0000000000020

00 13-6. Ux="1.0"[My=2.000000O0=x+2.0l0y+2.000000
Ox . "o5"y . "o5"0UU0OO0D0 print O DOOOOODODODO

000000000 gawk OO0 1000000000000O0O0

D000000000000000D0D0000000 2byted0 0x60 (=0°0)000
DDDED‘D(DDDDD)D gnuplot 0 " "OD0000O0O0O0O0OD0O0ODOOOOOOOOOO
help quotes 0 0 0 0O
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00 13-7. 00000 sei0 mei 0000000 (DOO0)000OODOO
gogogogoooobg 1gbdgbogbgogooodond print O
OU0DO0000bDO0o0n gnuplot HOOODO kadail3-7.gp 0O OO0OO

gnuplot OO O O0O0O0O0OO0O0OO0O0OO0OOO0OOOO10000000000OO0
gobboobboogoooobbobbbooooooobooboobobboogo
OOoooooooboobobobobobobobobooooOOplet OO
000000 x0000000O300:

f(t,a,b) = axsin(bxt+c) # JOO0O t OO0
c=1.5
plot f(x, 0.5, pi) # plot 00O x O0OOOODO

000000000 y=05sin(rz+1.5)0000000000000000O
0000 (00000 a,b,c) 0000plot 00000000000 00O0OO
bbb chbuoooobbbooobbbboooobbbuooobbbod

f(t,a) = 2.0*sin(pix*t+a)
plot f(x, 0.0), f(x, 0.1), f(x, 0.3), f(x, 0.4)

gobboobboogooobbobbbouoooooboobooboboogg
gbobobooogn

00 13-8. 000000000 f(z,p) = e /@) Qpr 0O0O0OOp =
05, p=1,p=20000 3000000000000 gnuplot 000
00 kadail3-8.gp 000000

00 13-9. f(z) = sinz, g(u) = 4u® —3u, h(v) = 2* —1 00000
=g(f(z)) 0 y=~h(f(x)) DDDOO0OO0O0O0O000O0O0O0O gnuplot
OO0000 kadail3-9.gp DO OO OO

00 13-10. f(t) = sinwt, g(t) = cosnt 000001000 —1.000
1.000 01000000000 21000000 dataUODOOMplot
"data" u (£($1)):(g($V)) w 10O ODODODODOOOOOOOOOOO
goobogd

gbbbooodbobbooodobbbooodoobooo

30000000 set dummy 00000000000 DODOOOODO



2. 00odggo 6

e <U0O> 7 <O 1> : <O 2>
<Jd0O>000000 <0 »>0000000 <0 2>2000d

gooo

l-2z (x<1000)
22+1 (x>1000)

o~

obobbooboobooboon

[£(x) = (x<=1) ? (1-x) : (2x+1) |

gbbobuoobobbboooobbbuooobobbboooobbboo

’f(x) = x>=0 ? sin(x) : 1/0 ‘

00000000 z>000 sine 00000002z <000D000O 1/00
ODO00z<0O0OOO0OOODODOOOOODODOOOOz>0000000000
gbboboogooobooaoobon

gboboodbbobobbwsingUU0O0 3000O0000OO0O0OO0OOO0O
gbbbuoooobbboooobbboogad:

#y OUODO 10 000000000D00O0DODOO
plot "data" using 1:($2>107 1/0: $2) w 1

OO0 13-11. D0 00O booooobobbooooobobOogd gonuplot
00000 kadail3-11.gp DO DO OO O

(x+1)? (x<-1000)
fla) = 0 (-l<z<2000)
(r—2)? (x>2000)

00 13-12. y=sinz 000 03000000000000000000
0 f(x) 000000000000000 gnuplot 00000 kadail3-
12gp 000000

OO0 13-13. D000 dibb datal 1000 20002000 yOOO
0000300000 1000000 0000000 (DO)Ooooo
0000 gnuplot DO OODO kadail3-13.gp DO O OO0
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3 000000 histograms

JU0dudbibibl set boxwidth U with boxes U U DUOOOOOOONO
00000000000 with histograms (D00 w hist) 0000000
guoodouooooobbbbuoooooo

with histograms 00O UOO0O0OODOOOOOODODNO
e JODODDOODOOODDOD 10ODOODO 1IDOODOOD

e HUUOODOOO z=0,1,2,...00000000000set xtics U
gbobboooobbobuooobbbuoogooboo

e set yrange U UUUUDODDODOOOOOON yrange DD OOONO
oobooboobooboobooobo

set style fill (D0OOOO), set style histogram (00 0) 000
OO0OOoOoOd plot OO

set style fill, set style histogram U UUIDUOOOOOOOOODOON

set style fill
gobooog ERERE 00

empty e gooo
solid <x> S OO0 000 (0.0<z<1.0)
pattern p 0000 (0O0)oooo

set style histogram (U0 set style hist)
goooon goo gd
clustered clust |OOOO
rowstacked rows |00000 (10000000O0O)
columnstacked | columns | 00000 (10000000C0O)

0000000 dataO

# 10O 00O OO
2100 50 70
2200 80 30
2300 60 80

gbobbooogbbbuoooobbboooobbooboood
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set yrange [0:100]

set xtics ( "2100" 0, "2200" 1, "2300" 2 )

set style fill s 0.5 bo 1t -1 # U U

set style hist clust

plot "data" u 2 t "UU" w hist, "" u 3 t "UU" w hist

OO0 13-14. J000000 data OO DO OOOODOOO0DODOOOrows O
OO000000000000 gnuplot 00000 kadail3-14.gp OO 0O
OO0 (D00D00000000 set yrange, set xtics, plot O title
O0000000ooooooono)o

OO0 13-15. 00 00O0Ocolumns DO O OOOOOOOOOOO gnuplot
00000 kadail3-15gp 00000 (DOOOOODODOODO set
yrange, set xtics,plot O title 00 D0O00000O0O0O0O0OO0O)O

4 0O 20000

enuplot 0 2 0000000000000 O00O0000O 2000000000
00000 20 (OD0O)DyD (DDO)D00O0O 220 (ODO)Dy20 (DDO) DO
O0000oooOooOo 2000000000000O00000O00O0O0O000
0000000 000DO set x2range, set x2tics, set x2label U U U
oooooood

O0000obogobooobboobbdplet DOOOO axes DO OO
gbbbuoogobbbuoooobboooobbboooobn:

plot "data" u 1:2 w1l , "" u 1:3 axes x1ly2 w 1 ‘

OO0b0o00 300bb00bobboobbooobD data0DO0oo10o00 o
000002000 y0O (00)0000O00 1003000 ¢20 (O0O)DO
gbobobo 20 20000000000000000

axes OO0 0O0O0O0OOOODOOO0OO=x1yL, x1y2, x2yl, x2y2 0 4 0000
10 (xiy1) DOOODOOOOO

20000000000100000000 (tics) 0 nomirror 000000
00000000000000000200000 (ties) D ONOODOOO
000 (000000 100000 miror 000200000 OFF 000
000)0
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0

set xlabel "[OJ]"

set ylabel "O O [cm]"; set y2label "OO [kgl]"

set ytics nomirror ; set y2tics # y2tics 0 ON U
set xrange [10:20]

set yrange [100:200] ; set y2range [30:90]

plot "data" u 1:2 w 1p, "" u 1:3 axes xly2 w i 1t 5
#2 000000 +000300000000OO

gb 13-16. D00 booooobudbobidlpaused yl U0 y2
O0000000000000000000000 (with boxes) O OO
OO0DO0000bDOoo0OoOgn gnuplot 00000 kadail3-16.gp O OO
goo

00 13-17. 300000000 data001 00000 [km] (00 100)02
00000 [K] (1800 300)0300000 [hPa] (3.0x1074 0 1.2x10%)
0D00000000000000000000000000000000
00000000000000000000 gnuplot 00000 kadail3-
17¢p 000000000y 0000000000000000000
000000000000

00 13-18. 100000 [0] (19200 201005 000)02000000
00 [00] (4000 0 15000) 000000 data 00000000000
0000000000 1920000 1950 00000000 1980 00
020100000000 200000000000 gnuplot 00000
kadail3-18.gp 100000

000: gnuplot 000000 OO 2

O0O0b00OO0Ognuplot DOODOODODOOOOODOOODOO

o 1[I

gnuplot 4.4 OO 0Oset U plot DOO0OO for DO0OODOOOOO
(iteration) 00 0000000000000 O0OOOOOOOOOOO
0000000000000 gnuplot 4.6 000 if/else/while/do O
0000000000000 000 (( ph)oooooooooooo
go00boooobboobbboooobobboooooobooboo



4. 020000 10

e [JIODO

OO00bOO0bOO0000obOobooooob0obuoo0ooDbOndgnuplot
gbobooboobooboobobbobooboobod

gbbgdgbobgbobodbboobobbooobooobboob
O00000000000000000 (set timefmt) 00000000
gbbogdgbboboooboogbbodobbuooboboobooob
0000000000000 0000000000 (set xdata time,

set format x)0

e HUUUOODLDLDOUOOODDO

gobdobooboboobobbobobooboobuobbooba
000000000000 0DOO0O0O0O0O0O0O0O0O0OODODODDO (set
xtics rotate)J000O0O0O0OOOOODO (set xtics offset) 000
oo bbbboooogooo
000000000 (set xtics out)D0 0000 zeroaxis 0O OO
000000000 (set xtics axis) 0000000 OOOOODOOO
O000000000000D0000000000 (set xtics add)d

e JJODOOOD (enhanced) 0 O0O

gboboggbboobbooogobooobboboooboboon
(000)ODODOD0D0OO0 (DOo0)D00ooo0ooooUoooOOooooo
O0enhanced DO ODOO0OOOODOOOOODODOODOOODOOODOO



